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Section A

Answer all questions in the spaces provided.

Read Source One: Marason in the insert booklet and then answer the
guestions.

. Explain how innovation can help Marason increase its market share.

[4 marks]

. Explain how Marason'’s focus on reducing costs might lead to unethical
behaviour in relation to its stakeholders.

[9 marks]
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. To what extent does Marason’s use of big data guarantee that it will achieve
high sales?

[12 marks]
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Marason wants to maintain a culture that is normally associated with start-up
businesses as it continues to grow.

Do you think this is possible?

Assess the arguments for and against and make a judgement.
[12 marks]
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Section B

Answer all questions in the spaces provided.

Read Source Two: Unilever in the insert booklet and then answer the
guestions.

. Explain why Unilever might have adopted a product organisational structure.
[4 marks]

. Examine the possible reasons why a short-termist approach might damage the
long-term success of Unilever.

[6 marks]




. Analyse the possible benefits to Unilever of operating on a large scale.
[9 marks]
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Extra space

. Do you think that the emerging social trends that Unilever has to respond to in
its markets (line 11) are an opportunity or a threat? Justify your answer.

[12 marks]
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. Some commentators believe that Unilever’s three objectives (line 7) must

conflict with each other. Do you agree?
[12 marks]
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Extra space

END OF QUESTIONS
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